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I » mwn: requirement of waiting 3 months for ninan

a

C

p"n: applies to any widow/divorcee, even a n%na (01R1 1n) and even for purposes of POITR
i includes m1a» and n¥Yn (which are parallel, as per v. 1)
1 Challenge: (to parallel) — pav which sister was nwnpn — n¥9n and not ma»
(a) Defense: if we knew which sister it was, she would also have ma»; here, even if we knew she
wasn’t pregnant, she’d still need 3 months — as we make a nvop wait
2 Note: if n¥9n was performed during 3 months, she must wait to marry until 3 months after death of
husband - but not 3 months from moment of n¥%n (unlike V3 according to 11)
(a) Reason:y"p from ma» (which has potential of Nk nwR MR is she is pregnant) —wait from Yyan nnn
ii  Includes all other women
1 Reason #1: (s%mnw) v. 2 — important to know omn»
2 Reason #2: (x21) — to avoid consanguinity due to ignorance of paternity
M 1: if they were married, they may have pwymp; if only had pwyrp, they may marry
i exception: nT’2 MOYIR — sometimes have relations >may not marry until 3 months
DY '7: MNYR may not marry due to mvar

I Support of D2’ NIMWY

a
b
c
d

First 3 months — supported from deceased husband’s estate
Afterwards - neither Yya nor n1

If 02’ is ordered by 1”1 to pay and flees, his estate funds

If the pa’ is a 1vp, she loses

I Requirement of 3 months (and no less)

a

b

couldn’t wait 1 month — if she gives birth after 8, it may be &% 't (and she became pregnant 1 month later)
couldn’t wait 2.5 months — could give birth after 6.5 and still be from last; since premature births occur
anytime during 7 month (as mn - v. 3)

couldn’t omit waiting and then check her after 3 months:

i active checking — makes her unappealing to husband

ii ~ watching the way she walks — women have ways to conceal (so he’ll be considered son of 2" and inherit)
question: why enforce it if we know she’s already pregnant at death or divorce? (dispute mnon/n™ if he

can remarry her)

answer: may kill foetus

challenge: why is it permissible to have relations with wife when she’s pregnant?

i Answer: 7 or mn 0w n (above 13a)

ii  Challenge: use 71 or yan ©nW 1n for case of marrying already pregnant woman

Answer: if her milk dries up, she’ll feed the baby; new husband won’t pay food bill for other’s baby and
she’ll be embarrased to come to 71 to claim mnm
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